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QUESTION 1

A company uses a single - forest, multiple-domain Active Directory environment. It would like a seamless authentication
experience to vRealize Automation for its end users. Which two design specifications are required to meet this need?
(Choose two.) 

A. Active Directory with Integrated Windows Authentication must be selected as the Directory Service connection
option. 

B. The built- in vRA local user Configu1tionAdmin must be moved to Active Directory before configuration. 

C. Active Directory over LDAP must be selected as the Directory Service connection option. 

D. The vRealize Automation appliances must be joined to the Active Directory domain. 

Correct Answer: CD 

 

QUESTION 2

An architect has been tasked with developing several new modules for an existing legacy application. To meet the
deadlines, the architect has chosen to recommend vRealize Automation to deploy the application more quickly. 

1.

 The application requires that all IP addresses for the different servers be identical. 

2.

 Developers will connect to a Red Hat virtual machine contained within the application blueprint. 

3.

 There will be several teams working with their own deployments as they develop their individual modules. 

4.

 The archit ect has been tasked with setting up the reservation for them to use. 

Which networking configuration should the architect recommend to meet the requirements of this scenario? 

A. Configure a new one-to-many NAT network profile utilizing the existing external network profile. 

B. Configure a new ext ernal network profile with an IP range in the existing applications VLAN. 

C. Configure a new routed network profile. 

D. Configure a new one- to-one NAT network profile utilizing the existing external network profile 

Correct Answer: A 

 

QUESTION 3
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A cloud architect is tasked with designing a solution for reservation policies based on VM deployment environments.
Users should be able to select the guest VM deployment environment in the request form. 

What are the correct design steps to address these requirements? 

A. 1. Define reservation policies based on environments and map them to appropriate reservations. 

2. Create a drop-down custom property with external values that return reservation policies belonging to the user. 

B. 1. Define reservation policies based on environments and map them to appropriate reservations. 

2. Create a drop-down custom property with built-in complex type "ReservationsPolicy." 

C. 1. Define reservation policies based on environments. 

2.

 Create a drop-down custom property with external values that return reservation policies belonging to the user. 

3.

 At an appropriate Event Broker state, based on a user\\'s environment selection, dynamically map reservationpolicies to
appropriate reservations. 

D. 1. Define reservation policies based on environments. 

2.

 Create a drop-down custom property with static values matching the environments. 

3.

 At an appropriate Event Broker state, based on a user\\'s environment selection, dynamically map reservation policies
to appropriate reservations. 

Correct Answer: D 

 

QUESTION 4

An architect is designing for the ability to deploy a maximum of 9,000 managed machines and 300 catalog items in a
vRealize Automation (vRA) environment. Which vRA deployment method would meet this requirement while keeping
the number of machines to a minimum? 

A. Extra Large 

B. Large 

C. Small 

D. Medium 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-
Automation/7.5/com.vmware.vrA.install.upgrade.doc/GUIDABDEC762-5960-4B56-8A0C-CC25651EE95C.html 
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QUESTION 5

A company with a full vRealize solution stack deployment has recently been considering the Amazon Web Services
(EC2) offering. The vRealize Automation architect is being tasked with integrating the Amazon test account with its
environment for testing. What would be the easiest way to complete this integration without adding any risks to the
production environment? 

A. Deploy a vCenter 6.0 appliance in Amazon and connect it as an endpoint to vRealize Automation. 

B. Create an Openstack endpoint and connect it to Amazon\\'s cloud. 

C. Use the Amazon EC2 endpoint using a restricted access key for a test environment. 

D. Use the vRealize Orchestrator Plug-in for Amazon Web Services to create an Amazon EC2 endpoint using a
restricted access key for a test environment. 

Correct Answer: D 

Reference: https://docs.vmware.com/en/vRealize-Orchestrator/7.4/rn/aws-plugin-110-release-notes.html 
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